



## Infinite Series سلسلة لا نهائية

A sequence of the form :

$$a_1 + a_2 + a_3 + a_4 + \dots + a_n + \dots$$

is called an infinite series. The term  $a_n$  is the  $n$ th term of the series.

The sequence  $\{S_n\}$  defined by :

$$S_1 = a_1$$

$$S_2 = a_1 + a_2 = S_1 + a_2$$

$$S_3 = a_1 + a_2 + a_3 = S_2 + a_3$$

$\vdots$

$$S_n = a_1 + a_2 + a_3 + \dots + a_n = \sum_{k=1}^n a_k$$



is the sequence of partial sums of the series and the number  $S_n$  being the  $n$ th partial sum.

If the sequence of partial sum  $S_n$  converges to a limiting value ( $L$ ), then the series is convergent and its sum is ( $L$ ). Hence,

$$a_1 + a_2 + a_3 + a_4 + \dots + a_n + \dots = \sum_{n=1}^{\infty} a_n = L$$

If  $S_n$  of series does not converge, then the series divergent and there is no sum.

\* Any Series can be expressed by :

$$\sum_{n=1}^{\infty} a_n \left( \sum_{k=1}^{\infty} a_k \right) \text{ or simply } \sum a_n \left( \sum a_k \right)$$



The following examples shows how the "partial fraction technique" can be used to compute the sums for some series. When this sum can be done then the series is convergent.

Ex | Determine whether the following series is convergent or no? ①  $\sum \frac{2}{n(n+1)}$

Sol. |  $\sum \frac{2}{n(n+1)} = \frac{A}{n} + \frac{B}{n+1} \rightarrow A(n+1) + Bn = 2 \rightarrow$

if  $n=-1 \rightarrow B=2$   
 $n=0 \rightarrow A=2 \rightarrow$

$$\sum \frac{2}{n(n+1)} = \sum \left( \frac{2}{n} - \frac{2}{n+1} \right) \rightarrow$$

$$S_n = \underbrace{(2-1)}_{n=1} + \underbrace{(1-\frac{2}{3})}_{n=2} + \underbrace{(\frac{2}{3}-\frac{2}{4})}_{n=3} + \dots + \underbrace{(\frac{2}{n-1}-\frac{2}{n})}_{n=n-1} + \underbrace{(\frac{2}{n}-\frac{2}{n+1})}_{n=n}$$

$$\therefore S_n = 2 - \frac{2}{n+1}$$

$$\therefore \lim_{n \rightarrow \infty} S_n = \lim_{n \rightarrow \infty} \left( 2 - \frac{2}{n+1} \right) = 2 \rightarrow \therefore \text{the series is convergent}$$



EX) Discuss the convergence of this series  $\sum \frac{4}{(4n-3)(4n+1)}$  ?

Sol:  $\frac{4}{(4n-3)(4n+1)} = \frac{A}{4n-3} + \frac{B}{4n+1} \rightarrow A(4n+1) + B(4n-3) = 4$   
if  $n = 3/4 \rightarrow A = 1$  and if  $n = -1/4 \rightarrow B = -1 \rightarrow$

$\therefore \sum \frac{4}{(4n-3)(4n+1)} = \sum \left( \frac{1}{4n-3} - \frac{1}{4n+1} \right)$

$S_n = \underbrace{\left(1 - \frac{1}{5}\right)}_{n=1} + \underbrace{\left(\frac{1}{5} - \frac{1}{9}\right)}_{n=2} + \underbrace{\left(\frac{1}{9} - \frac{1}{13}\right)}_{n=3} + \dots + \left(\frac{1}{4n-3} - \frac{1}{4n+1}\right)$   
 $= 1 - \frac{1}{4n+1} \rightarrow \lim_{n \rightarrow \infty} S_n = \lim_{n \rightarrow \infty} \left(1 - \frac{1}{4n+1}\right) = 1 \rightarrow$   
 $\therefore$  the series is convergent